NUMBER SYSTEM

. Write three irrational number between v2 and v3.
. Write decimal form of 3/18.
. Find x, if 3% + 3**1 = 36.

. Simplify 2v/50 + 3+/32 + 44/18.
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5.1fv2=1.4and V3 = 1.7, find the value of NN

1 2
6. 1f x = 4 - V15, find the value of(x+;) .

x—1 —-X
7.Ifa—2x2,b— —xr1 and a — b = 0, find the value of x.
8. Prove that =1

\/E+1 \/§+\/E 2+3

9. Find the v 7 + V48.

10.Find the value of 4x? + x—lz,ifx = 3+2ﬁ.
n+1 (—n/z)_z_ n
11.Prove that m-n=2, if9 ak A :
(3Mx2)3 729

2V6—V5 _
VA5—VZE

12.If a + bV 30, find the value of a and b.
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a a~1 2b?
13.Prove that + —
al1+p—1 a 1-p—1 b2—qa?

14. If a= 5+2 V6 and b=1/a, then find the value of a2+b?
15. If 2* = 5Y = 107, then prove thati +% = i

_ V5-V3 _ V5+V3
16.Ifa—\/§+\/§ and b_vg_ﬁ'

find a?+ b? — 6ab.



